Suf

“YTIeE
4

7/

Siarrelanf

V2

Hennsie

o0

200 i

00 T

400

200 m,

km

T
1713

1548 6 5m

TR et 14T

109, 2%

25,4 ki

6B -

= 13,5 R

18.8.km

7265%m
-

1964am

17,25

it 172K it 200 KT it 15

km
ST ——

wy/ulw gey  €€:L0:T0
elpA7 ‘Jayiem 0T/10T

wp/ulw €€ TG:TT:TO
Jueld 4aubem 6/T0T

w/ulw €636 © 6:TZiT0

suuy ‘blII3yL 8/T0T

upjfuiw TGS y:0Z:T0
usajyiey ‘gneis £/10T

Ww/ulw 90y . ¥Z:1Z°TO
snaJe ‘jnepjeg 9/T0T

upj/ulw ge:y  GT:9T:T0
903N ‘Dwyniy 6/T0T

Bj/ulw 6Z:€ | €0:60:10
ueydas ‘1ekeq /10T

wy/ulw 9y TOT:10
MUY ‘[MeH €/T0T

w/uiw ov:€ - 00:¥T:10
uejels ‘IpJeypleN /10T

wy/uiw 0% 00:0T:T0
sua[ 1aneyyasiald /10T

adapoe

d

Thiringer
Erver

/4]

e



